N = 0l & At & Ml A

2018 &= 20l A LB H F=QIMEX R
SN FOIMEXED
HM: L 2XNST(AMIIEXN/BE® -IESLHY)
el esXl & (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
FOMBAD 100,431,399 83,521,334 16,910,065
= 60,719,895
Xl 200,000
Jl 851,923
= 13,703,034
Al 24,956,547
e EXNZSE(AMSEX/ES - IHELHA) 1,373,104 1,461,290 88,186
2 4,400
Dl 520,696
= 169,928
Al 678,080
He=2X =& 1,373,104 1,461,290 88,186
2 4,400
Dl 520,696
o 169,928
Al 678,080
HAEQAMIEHEHLHASA 75,990 87,300 A 11,310
201 2Bt | 28,520 30,390 A 1,870
01 AFR 2t 2| bl 27,080 27,990 A 910
OXLHESRAZ EFAG
70,000 * 13¥ « 23| 1,820
O0ts HHEUMXHEAN G
70,000& = 7H * 23] 980
OdEdeE284 I &G
70,000 * 10¥ « 23| 1,400
O8d8dsEAHI & HdoAX0aMNE s 2
AFE 2 | 1,840
—Je2z 250,000& = 1Al2F * 43| 1,000
— =2 120,000 * 1Al2F = 48] 480
— 0 Hi 90,000& = 1Y x 43| 360
OdgdsrdElt & HoXWAMMERs W M
&l 3,000& = 500% 1,500
Od3E & HJOiol, 428 JIE3ZEd e s
2AE L ol 1,840
-Jlzg= 250,000& * 1AI2F = 48] 1,000
— =Xz 120,000& * 1Al2F * 43 480
;] 90,000& = 1 43| 360
O43 28 & SO0, 428 8= legus
MPpUPSESS 3,000& * 5008 1,500
O4tf Mt =222 HE
750 * 20000 * 9= * 123 16,200
02 2=2=24%4| 1,440 2,400 A 960
OWHOtsSHEXZ0IE EIR=
120,000& = 12& 1,440
203 € R =& 1,500 900 600
03 AIEH =X 2 F X Y| 1,500 900 600




2N

HM: L 2XNST(AMIIEXN/BE® -IESLHY)
Sl a=x S (B9 ®R)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFUMETAY HR=X 1,500,000& * 14 1,500
301 et A= 4,770 9,210 N4 440
09 HAIAHI BEAZ 4,770 7,470 A2,700
OAdUs EFA0HH 90,000& * 27¥ » 1< 2,430
OJE=Zd A s &4 4l
90,000& * 6Y x 14 540
OWHRHAEN 29 2tE3 Z24
6,000& * 100¥ = 33 1,800
307 212t0| & 31,200 36,800 AN5,600
02 QIZFEAAIE 2 X 6,000 31,600 A 25,600
OCt2st Mat Z2HME(EXE 90%)
6,000,000& = 1A 6,000
04 SIZ2ISHAAISHE E X 20,000 0 20,000
OA0l Deles d=2My Z2HE(BEXE 90%
) 20,000,000& * 14! 20,000
10 M SXAEEHE2IGHEX 5,200 5,200 0
O FAMIHAMGHEH RIAXA(BEXZE HH)
5,200,000& = 1A 5,200
401 Al HI L 2 0HHI 10,000 10,000 0]
01 Al&H| 10,000 10,000 0
OWAOSOHA I HREHAILAE S AXI ALY (X
Ob2tRA) 10,000,000 = 1A 10,000
HAESHKEESAE X 27,000 27,000 0
307 2I2t0| & 27,000 27,000 0
02 QI2tAAMAIE E =X 27,000 27,000 0
OWEEH KNEESFAIY =&
30,000,000 = 14! = 90/100 27,000
HEXNE XG2S 17,600 16,000 1,600
307 gizto| A 17,600 16,000 1,600
02 AI2tAAMAIE E =X 17,600 16,000 1,600
OWMEXNEA 923 =
22,000,000 = 14! % 80/10 17,600
AHESF2HIIEHAIXA 7,000 7,000 0
307 2iz2to| A 7,000 7,000 0
04 QIZ2tSHALALS B = 7,000 7,000 0
OUdHBEESF2 |G AHl X (EXE 90%)
7,000,000 = 13| 7,000
HAEXNEXNDSYLHAE AR 4,300 4,300 0
301 LBt A= 4,300 4,300 0
09 HAIAHI EAZ 4,300 4,300 0
OWAXNZ=X 3o, A & WEEA Y]
4,300,000& = 1A 4,300

-2 -




2N

3 04 SXNSH(AMI=XN/ES - IIFL0HY)
22 Hg=sEX 58 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
G2t EX& 16,020 62,300 A 46,280
201 £B-2d| 1,400 1,680 A 280
01 At 22l 1,400 1,680 A 280
OCI2StEN sl 3o &4 +5
70,000& * 69 = 23| 840
OZ=Al 22018 U2 IsXNJAEH 2t
& HARIE EA =& 70,0008 * 8H * 13 560
301 L2 Az 1,620 1,620 0
09 EALEHIE &S 1,620 1,620 0
OU=2otE A € s 4 Ol
90,000& = 2H » 9« 1,620
307 21201 A 13,000 13,000 0
04 DIZHHALALSE E X 10,000 10,000 0
oOzeolnd ol=8 &etiore
12,500,000& = 141 « 80/100 10,000
11T A SXAIEE = 3,000 3,000 0
Otzst2d TN XI& S 3,000,000& = 14 3,000
(RS RLINENESESHSX A 227,941 221,760 6,181
J| 182,352
< 13,677
Al 31,912
301 et d s 227,941 221,760 6,181
J| 182,352
< 13,677
Al 31,912
01 MEIBEZE+05l= 227,941 221,760 6,181
O0ts2=H X 225,063,000 * 14| 225,063
J| 180,050
< 13,504
Al 31,509
OFItots2=Hl XNI& 50,0003 » 2% 128 1,200
J| 960
= 72
Al 168
Oznsstd stZ3Hl XNF 54,1008 * 31H 1,678
J| 1,342
= 101
Al 235
(FNHLEHERI NS XA 6,960 3,600 3,360
J| 5,568
< 418
Al 974
301 et a =z 6,960 3,600 3,360
J| 5,568
< 418
Al 974




2N

M oy BNSA(MERN/ES - HER0IH)
22 Hg=sEX 58 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 MI2EZE+06l= 6,960 3,600 3,360
O0ts2=H X 6,960
—Ots=Hl(182t) XI&
180,000& » 198 = 12& 2,160
J| 1,728
< 130
Al 302
—Ots¢=HI(52) K&
50,000& = 8% = 12& 4,800
J| 3,840
= 288
Al 672
()t L2IH=EX& 155,661 147,013 8,648
< 31,698
Al 123,963
301 YerE A 155,661 147,013 8,648
= 31,698
Al 123,963
01 MEIBEE 263 155,661 147,013 8,648
Oste2II= NHEXd=S 2,000,000& » 69H 12,000
< 3,600
Al 8,400
OsR2IIE EsHZH| 400,000& = 2509 100,000
< 15,000
Al 85,000
OSE2IIEXA 43,661
— ez 2,000,000& » 99H 18,000
< 5,400
Al 12,600
— TS = st E
100,000& * 904 9,000
< 2,700
Al 6,300
— 3. 08238 W=EH 300,0003 * 43H 12,900
< 3,870
Al 9,030
— DS TtHn =t 188,050& * 20Y 3,761
< 1,128
Al 2,633
()L ZL2RAESANSL XS 8,400 5,040 3,360
< 1,680
Al 6,720
307 glz2+ol & 8,400 5,040 3,360
< 1,680
Al 6,720
11T MISRASEX 8,400 5,040 3,360
OGAZ2ARBAL EAL 49
1,680,000& * 5% 8,400
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2N

3 04 SXNSH(AMI=XN/ES - IIFL0HY)
22 Hg=sEX 58 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 1,680
Al 6,720
(R)HE=Z 2 ANE SAL BE2uS 960 960 0
J| 480
< 86
Al 394
301 gt 4= 960 960 0
J| 480
< 86
Al 394
09 HALAHIEA S 960 960 0
OWEZHZAHANE SAAL 1
480,000& = 24 960
J| 480
= 86
Al 394
()= a4gL 2L 82,908 73,690 9,218
J| 41,454
< 6,218
Al 35,236
307 glz2tol & 82,908 73,690 9,218
J| 41,454
< 6,218
Al 35,236
10 AL SXNAIEEE2EH EX 82,908 73,690 9,218
ONyEA4gL 29 N8
82,908,000& * 1JHA 82,908
J| 41,454
= 6,218
Al 35,236
(Z)d=Z=0 N ESXE 5,000 5,000 0
< 1,500
Al 3,500
307 gl2tol & 5,000 5,000 0
< 1,500
Al 3,500
11T AS S RAEE = 5,000 5,000 0
OZslldt™ 2949 5,000,000 * 102 5,000
< 1,500
Al 3,500
(Z)oOtsSHL AN A2 7,000 7,240 A 240
= 3,500
< 1,050
Al 2,450
201 L2l 2,500 7,240 N4, 740
= 1,250
< 375
Al 875




2N

HM: L 2XNST(AMIIEXN/BE® -IESLHY)
Sl a=x S (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
01 AP 22| H| 2,500 7,240 N4, 740
OtsHdetd Xl =9
2,500,000& = 1A 2,500
= 1,250
& 375
Al 875
307 2iz2to| & 4,500 0 4,500
= 2,250
= 675
Al 1,575
04 QIZ2tSHAFAFS B X 4,500 0 4,500
Oo0tsH4dotAd 2HH Q! 4,500,000 = 14 4,500
= 2,250
o= 675
Al 1,575
(D)0t A2ARNHA 30,000 30,000 0
= 3,600
Al 26,400
307 QI2t0| ™ 30,000 30,000 0
= 3,600
Al 26,400
10 A SXANEEHESIHEX 30,000 30,000 0
ONE=ZAMND AT (0NN A)
30,000,000 = 1Al 30,000
= 3,600
Al 26,400
ALINAE XA 10,000 6,000 4,000
307 giztol A 10,000 6,000 4,000
02 Q2B AMAIE E =X 10,000 0 10,000
OO0IIIE JIISAIEHYY 2SI (BEXE HH)
10,000,000& = 1Al 10,000
(2H)AH2AIY 2 UR23IHE XFHMEH 29 235,340 272,046 N 36,706
J| 117,670
& 35,301
Al 82,369
307 2iz2to| A 235,340 272,046 N 36,706
J| 117,670
& 35,301
Al 82,369
10 MM SAANEEHESIGHEX 235,340 272,046 AN 36,706
OAHLUINE - U2 IISXNIHEEH SetABIA X
& 235,340,000€ = 1Al 235,340
J| 117,670
& 35,301
Al 82,369
()23 =X A 177,840 107,840 70,000




2N

o M SNST(MNS=N/ES - IEL0HA)
a=5X & (&2 &)
CEB Y (3H) - NEAY - B2 ol &k o8 ﬁlf& HD=2
= 73,768
Al 134,072
301 LBt A= 4,000 4,000 0
= 1,200
Al 2,800
01 Al E & A 462 4,000 4,000 0
OZ&01204 s XN 4,000,000& * 14 4,000
o= 1,200
Al 2,800
307 212t0| & 173,840 103,840 70,000
& 42,568
Al 131,272
11 A EXAIEEX 173,840 103,840 70,000
OZEOIRGY BRY 29
28,000,000& * 14 28,000
o= 5,600
Al 22,400
OUEsIs Estaz)d 29 X
30,000,000& * 14! 30,000
o= 6,000
Al 24,000
OU&3 olol = 19,000,000 = 14! 19,000
== 4,600
Al 14,400
OUREIIE 258 N
5,000,000 = 14! 5,000
& 1,000
Al 4,000
OUE3IIE SXAE SALN =
140,000& * 13¥ = 128 21,840
& 4,368
Al 17,472
OZE0I20I4 OISANUA LT2IEHE N
70,000,000& * 14 70,000
= 21,000
Al 49,000
TIURSINIESLUSWSAMER2Y 13,000 14,000 A 1,000
= 3,900
Al 9,100
307 QI2t0| & 13,000 14,000 A 1,000
= 3,900
Al 9,100
11T AISIEXAIEEX 13,000 14,000 A 1,000
OULESINE YESNRNCA HEN
100,000& * 13¥ = 108 13,000
== 3,900
Al 9,100
(2)0lsSCHtE XS HE X 1,800 1,830 A 30




AN FRMSTA L
3 04 SXNSH(AMI=XN/ES - IIFL0HY)
22 Hg=sEX 58 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 900
= 270
Al 630
201 LBt2d| 1,800 1,830 A 30
= 900
< 270
Al 630
01 At 22l 1,800 1,830 A 30
OO0ts et ™ I & Ml & 1,800,000& * 14 1,800
=2 900
< 270
Al 630
(HIHELE & HHdE S RUSHUA X 142,740 159,750 A 17,010
J| 99,918
< 12,847
Al 29,975
307 21201 A 142,740 159,750 A 17,010
J| 99,918
< 12,847
Al 29,975
11T AR S XA E = 142,740 159,750 A17,010
OYgEus MUlA XI&
915,000& = 1398 128 142,740
J| 99,918
< 12,847
Al 29,975
()2 E0/2X SHIAMEIA X 22,224 17,232 4,992
| 15,557
< 2,000
Al 4,667
307 21201 A 22,224 17,232 4,992
| 15,557
< 2,000
Al 4,667
11T MISRASEEX 22,224 17,232 4,992
OZE0I2A SHANHA X &
22,224,000& = 14 22,224
| 15,557
< 2,000
Al 4,667
(RO E pEAdHEY X 60,258 58,912 1,346
J| 42,184
< 5,420
Al 12,654
307 21201 A 60,258 58,912 1,346
J| 42,184
< 5,420
Al 12,654




2N

X{ XH -
S =

22 Hg=sEX 58 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 60,258 58,912 1,346
OUIsItE g e XA
60,258,000& * 14 60,258
J| 42,184
< 5,420
Al 12,654
(Ret=ojns 2 22,162 22,162 0
J| 15,513
< 1,995
Al 4,654
307 gl2tol & 22,162 22,162 0
J| 15,513
< 1,995
Al 4,654
11T M SRAISEEX 22,162 22,162 0
Ogt=0lus 24 22,162,000 = 14 22,162
J| 15,513
< 1,995
Al 4,654
(EIXNEESHEFHS NS 15,000 0 15,000
< 4,500
Al 10,500
201 et 15,000 0 15,000
< 4,500
Al 10,500
03 &Ar2 I 15,000 0 15,000
OXNY S8z u= 15,000,000& * 14 15,000
S 4,500
Al 10,500
Ots2= I (MESX/ES - IIFLAHY) 26,154,208 23,361,629 2,792,579
= 11,471,956
J| 105,053
= 8,502,049
Al 6,075,150
otsE= JIHEXE 26,154,208 23,361,629 2,792,579
= 11,471,956
J| 105,053
< 8,502,049
Al 6,075,150
OtS X & AL 7,435 10,725 A 3,290
201 Let24d] 1,640 1,400 240
01 At 2teltl 1,640 1,400 240
OOtS RN BHaaY
70,000& * 5% * 43| 1,400
O0ts2Edal 3o E==2H=
60,000& = 48 240




AN FUHEX S D

HH: OIsSES8 IS (AMIEXN/BES -IIESLHY)
2 OIsSE® JIIEXNHE (e H)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 5,795 9,325 N 3,530
01 Al E & A 462 4,920 8,100 A 3,180

OAaEAEHIIAE & JIER/AEOs S0 NE
Hl 2,0008 * 10¥ = 246 4,920
11 JIEtE A= 875 1,225 A 350
ORES0ls 2A/AE Ba3
35,000 * 5™ x HY 875

ESAME N&E 543,230 479,310 63,920
201 et 9| 4,200 2,240 1,960
01 AP 22| H| 4,200 2,240 1,960

OSSN Hasg
0,000& = 10¥ * 63 4,200
301 et A= 448,510 426,550 21,960
01 Al E& A %52 444 460 422,500 21,960
QBlIZtN 20l 2= A R A&
80,0003 * 200¥ * 12&8 192,000
OQI2ZEHE0I & FAIE HR2H&HI
30,0003 * 45 * 12& 16,200
Ool2Ztelold Azl XN 14,500
— 12 HI (20 0|3t)
300,000& * QA * 13 2,700
— 24/ (20¥9 =1, 60" 0Olat)
400,000 = 1202 = 13 4,800
— 2 HI (60 =1t)
500,000 = 14012 = 13 7,000
QoI el 0ld s 2 Bx2 A& 221,760
— OF3AMIOFS 30,000& = 303¥ = 128 109,080
— DHNIOtS 30,0008 * 168¥ * 12& 60,480
— 05N 0t S 30,000& = 1459¥ = 128 52,200
09 HAIAHIEAZ 4,050 4,050 0
ONE0old SAIN Ex=DN= d|
90,000& * 45¥ = 13| 4,050
307 2Iz2t0| & 38,520 38,520 0
10 M SAANEEHESIGHEX 38,520 38,520 0
OAZHHEESHEY BX(EX8 3H) 38,520
— o1y 500,000& * 3% * 12& 18,000
—AMIEE & EEAZ
70,000& = 3% x 12&8 2,520
— DAOI 2R4g
20,000& = 39 = 252 * 12& 18,000
402 SI2vXH=20| ™ 52,000 12,000 40,000
03 DI 2t EF A HI 52,000 12,000 40,000
OANMEONHE0IE X122l 2,000,000& * 60 12,000




2M: =
0
0

el

Xl & ot

ot
IFEXE (Sl & &)

=

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

10,000,000 = 400 A 40,000

(2)ESDAY 12dd XA 3,800,838 3,530,070 270,768
1,897,304
951,767
951,767

= W

307 21201 & 3,800,838 3,530,070 270,768
1,897,304
951,767
951,767

= W

10 A SAAIEHIS2SHIEX 3,800,838 3,530,070 270,768
WA AH X
3,616,087,000& * 14 3,616,087

1,804,929
905,579
905,579

= M W

OAZAZS WA 21 HH K&

171,899,000& * 14 171,899
85,949
42,975
42,975

= 0 W

OZOotS & WA 14l XA

12,852,000& 14 12,852
6,426
3,213
3,213

= MW

()L LOISIHEXN 2 47,100 48,900 A 1,800
I 32,970
4,239
Al 9,891

in

301 €EtE A= 47,100 48,900 A~ 1,800
Jl 32,970
4,239
9,891

= M

01 A28 H ==06l= 47,100 48,900 A 1,800
Oggots Ad=F=<  150,000& * 24% » 128 43,200
Il 30,240

= 3,888
Al 9,072
oYt E 2,700,000& + 1€& 2,700
Jl| 1,890
243
Al 567
oY=l 2R 400,000& = 3¥ 1,200
J| 840
= 108
Al 252

2l

()OS LERJAHAMKA 56,944 43,705 13,239
39,861

W




AN FRMSTA L
Y OISES IEXNA(ANIEXN/ES - IIESLHY)
©el: OISES HEX (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 5,125
Al 11,958
301 LEtE L= 56,944 43,705 13,239
= 39,861
< 5,125
Al 11,958
01 A3l EE & 56l 3 56,944 43,705 13,239
OOtsZLE XA AHE XI& 56,944,0008 » 14 56,944
= 39,861
= 5,125
Al 11,958
(Z)ZAots=24 X2 928,944 976,544 A47,600
< 461,447
Al 467,497
301 L2 A F 928,944 976,544 A47,600
< 461,447
Al 467,497
01 MEIBEE 253 928,944 976,544 AN 47,600
O&llEs ES5Y =4
4,000% * 1,0008 » 952 380,000
< 380,000
Ogsrs =4 4,000& * 1,000 » 90 360,000
< 72,000
Al 288,000
OXdotsdHe s 24 XA
4,000 * 2418 = 196 188,944
[ 9,447
Al 179,497
(D)HLHENSHERY 48,800 59,680 A 10,880
[ 7,240
Al 41,560
301 gt 4= 48,800 59,680 A 10,880
< 7,240
Al 41,560
01 A3l EE E 56l = 48,800 59,680 A 10,880
OJtzgseads XA 1,800,000& = 19Y¥ 34,200
< 3,420
Al 30,780
OENSENEW PSRN 1,800,000& * 1H 1,800
< 180
Al 1,620
OFAAHS0s XA 3,800,000& * 14 3,800
< 940
Al 2,860
OJN¥EtEssZd0ls NEgd=32 A
3,000,000& » 3H 9,000
< 2,700
Al 6,300




SN FUMBTRDY
Y OISES IEXNA(ANIEXN/ES - IIESLHY)
ol OIS RS IS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
()XNSotsdlH 29 XA 590,352 548,832 41,520
= 295,176
< 88,553
Al 206,623
307 gl2tol & 590,352 548,832 41,520
=2 295,176
< 88,553
Al 206,623
10 AL SXAIEEE2EH EX 590,352 548,832 41,520
ONHOISHE 2 X2
59,035,200& * 1000 & 590,352
2 295,176
S 88,553
Al 206,623
(Z)otsS= X WA IHA 97,326 80,640 16,686
2 48,663
< 14,599
Al 34,064
101 @14 dl 97,326 80,640 16,686
= 48,663
< 14,599
Al 34,064
04 JIZHHZ2XNHEE S 97,326 80,640 16,686
OOsS=X A ItA XI&  16,221,000& » 6 97,326
= 48,663
< 14,599
Al 34,064
(R)XNACAEE SN 242,300 290,000 A 47,700
=2 242,300
101 @124 dl 129,080 121,615 7,465
= 129,080
4 JI2ZtHZ22XRHEES 129,080 121,615 7,465
OEEHARE M2 XFA 129,080
— QI 1,900,000& * 4% * 123 91,200
= 91,200
—AEE JI&2RE3 850,000& = 12& 10,200
= 10,200
— XY 20,000 = 4% ~ 7 » 123 6,720
= 6,720
—AN2eZ2esg
14,0003 = 4% = 15A12t = 128 10,080
= 10,080
—us A& 0yl 70,000& * 4% « 83 2,240
= 2,240
— gAY Z 180,000& * 49 = 128 8,640
= 8,640




AN FUHEX S D

Y OISES IEXNA(ANIEXN/ES - IIESLHY)
el OtsExs JIEsXE (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 29,800 65,364 A 35,564
= 29,800
01 At 22l 15,100 24,164 A 9,064
OLEAERENH 29 260,000& = 12& 3,120
= 3,120
O2gAS OISSNE A HA £g
70,000& » 8Y « 53] 2,800
= 2,800
OEHAREZZOH 2Y Otz 2L
10,000& * 508 = 103l 5,000
= 5,000
OCHAEREZZNY 20 e &8
100,000& * 2& = 103l 2,000
= 2,000
OEHAERE SEZEALAE ditae
668,000 = 1CH 668
= 668
OEHAERE MIE2F F2UA2Z2X 24
7,000& * 3% x 6 x 12& 1,512
= 1,512
02 =224l 7,200 7,200 0
OSEAEIEHH 332l
600,000& = 12& 7,200
= 7,200
03 &AL Z I 7,500 34,000 226,500
OEYAEE F3HEE=S 2,000,0008 * 23] 4,000
= 4,000
OJsABIEZZIY 2Y
2,000,000& =« 14 2,000
= 2,000
OCYAEE EQRSSZzNH 294
500,000& * 33 1,500
= 1,500
202 Oddl 7,350 7,350 0
= 7,350
01 = LH 4 Hi 7,350 7,350 0
OEYAEE R2FA 0l
70,0003 = 398 = 5 73| 7,350
= 7,350
301 gt 4= 66,070 84, 151 A 18,081
= 66,070
01 A3l EE E 56l = 22,760 33,371 A 10,611
OEHAEE Ol 2224 XA
20,000& = 100 = 13l 2,000
= 2,000
O3t 2 stay N
10,0008 » 125% » 12& 15,000
= 15,000




AN FUHEX S D

Y OISES IEXNA(ANIEXN/ES - IIESLHY)
el OtsExs JIEsXE (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O0ts |ddl K& 6,000& = 80 = 12& 5,760
= 5,760
09 HALAHIEA S 7,710 5,350 2,360
OEYARE ZRUE 2 2208 29
25,000& = 309 = 10& 7,500
= 7,500
OEHAERE TUHEASAL 24
7,000& = 10¥ 33 210
= 210
MIEE43 35,600 45,430 A 9,830
EYAEE N SALL ESHI
20,000 = 4% = 53 400
= 400
OEYAERE $HsZ20d 2F ZAH
400,000& * 494 » 12& 19,200
= 19,200
OEHAEE 1HMUEY 2F ZA+E
400,000 = 4% = 10& 16,000
= 16,000
307 21201 A 7,000 10,520 A 3,520
= 7,000
01 2L =4l 7,000 10,520 A 3,520
OEHAEE 9=H X
25,000& = 150 = 13 3,750
= 3,750
Ogas L Ots ALSEAY
10,000& = 100¥ * 13 1,000
= 1,000
OEEAEE Haols WEdSH XA
15,000& = 1508 * 13 2,250
= 2,250
405 XHobE S HI 3,000 1,000 2,000
= 3,000
01 AL EFH S 3,000 1,000 2,000
OCEABEME MRA FIIPY(0ISE =4
g) 50,0002 = 60K 3,000
= 3,000
SHEPI=EX&A 4,500 57,620 A 53,120
301 L2 AF 4,500 57,620 A 53,120
01 MEIBEE 53 3,000 55,400 A 52,400
OS8R 2IE HEIIsL=H|
300,000& = 109H 3,000
09 HALAHIEA S 1,500 2,220 AT20
OetR2IE Ngsty gy 24
30,000 = 79 » 2« 420
OetR2IIE Hgstn A WA
90,000& * 6% » 2« 1,080
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SN FUMBXAD
B OIERS NENA(ANSEX/2S - FEL0IA)
2 OIsSE® JIIEXNHE (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
(29 K022 X (0~2A4l) 6,860,018 6,731,376 128,642
= 4,459,038
& 1,200,490
Al 1,200,490

301 LBt A= 6,860,018 6,731,376 128,642
= 4,459,038
= 1,200,490
Al 1,200,490

01 AR E & A 462 6,860,018 6,731,376 128,642
Og9R0t B2 A4 6,860,018,000 = 14l 6,860,018
= 4,459,038
=} 1,200,490
Al 1,200,490

(S)XNYGOISHEHBS AL 36,960 36,960 0
& 7,392
Al 29,568

307 QI2t0| ™ 36,960 0 36,960
& 7,392
Al 29,568

11T A EXAIEEX 36,960 0 36,960

OXNHOISHEIZAT HH4g X

1,680,000 * 22X 36,960
= 7,392
Al 29,568

(E)FxEsE A5 4,796,540 5,044,931 A 248,391
& 4,535,379
Al 261,161

201 Yur2 Y| 6,543 6,543 0
< 1,963
Al 4,580

01 AP 22| d| 6,543 6,543 0
OO0RIO0IE HHMZHBIH 2,508 * 2,617 6,543
= 1,963
Al 4 580

301 et A= 4,418,489 4,670,160 A 251,671
= 4,418,489

01 Al E& A 252 4,418,489 4,670,160 A 251,671
OfeltHd 4,418,489,000& = 14! 4,418,489
& 4,418,489

307 2iz2to| A 371,508 368,228 3,280
&< 114,927
Al 256,581

10 MM SAANEEHESIGHEX 358,868 355,557 3,311
BE0ts o= & 200,000 = 3™ 600
o= 180
Al 420




SN FERIMETRD
HH: otsE2= SN (AMIEXN/E=S - IIEL0Y)
S28 JI=ne )
A ZE a9 (3) - HRAY - By Ol &+ o4 il 2
OE=s0ts 24| 298,767,000 * 14 298,767
< 89,630
Al 209,137
Oogold XKl 394,068& * 290 A& 11,428
< 3,428
Al 8,000
OCH2E0{RI01E XE2 |
21,190,000& =« 14 21,190
< 6,357
Al 14,833
OFOHOISORI0IT AR 100,0008 * 3% 300
= 9
Al 210
Oogu=s 252 1,000,000& * 100H £ 10,000
< 6,500
Al 3,500
ONgold &ZMHaHl 502,5156& * 33M 16,583
= 4,950
Al 11,633
11T M3 SRASEEX 12,640 12,671 A31
OPS0IE AL DS X
1,264,000& = 10 12,640
= 3,792
Al 8,848
(Z)ESLIAAASH 480,290 480,790 A 500
< 96,058
Al 384,232
301 YerE A 480,290 480,790 A500
= 96,058
Al 384,232
01 MEIBEE 263 480,290 480,790 A 500
OEsuida =¢ 1,203,778% * 397H 477,900
< 95,580
Al 382,320
OFMHOIEEnAA EH2E 597, 5008 ~ 4 2,390
< 478
Al 1,912
=)0 0lE s#ZHA 30,000 28,494 1,506
= 15,000
< 4,500
Al 10,500
402 RIZ2EX20| A 30,000 28,494 1,506
= 15,000
< 4,500
Al 10,500
02 LA THEALEZ(0IETHR) 30,000 28,494 1,506
Oeold sdiHs 30,000,000& * 1A 30,000
= 15,000




2N
X ZH -
L= B

el

Xl & ot
HEXNS(MIEX/ES - HELAHA)
IFEXE

=

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= H

4,500
10,500

i
1
0
o
-
o
o
i
Ho
08

= M W

2,910
1,455

436
1,019

3,170

A 260

301 LA

= N W

2,910
1,455

436
1,019

3,170

A 260

09

2,910,000& = 14|

=z N W

2,910
2,910

1,455
436
1,019

3,170

A 260

= MW

2,485,312
1,615,462
434,925
434,925

2,833,210

N 347,898

= MW

2,485,312
1,615,462
434,925
434,925

2,833,210

A 347,898

2,485,312,000& * 14|

= W

2,485,312
2,485,312

1,615,462
434,925
434,925

2,833,210

A 347,898

= W

259,650
129,825
36,411
93,414

194,536

65,114

307 21201 &

zZ W

259,650
129,825
36,411
93,414

194,536

65,114

10 A SANAIEHISSHIEX

=
O33&g0eold XN&

259,650,000 = 14

= HnH

259,650

259,650
129,825
36,411
93,414

194,536

65,114

SEAMNEHAXHA

8,000

8,000

8,000

8,000

8,000

8,000

8,000




AN FUHEX S D
HH: OlsE2] HEXNF(MISXN/ES - HELAHY)
el OtsExs JIEsXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OOl ALXI & 23,680 23,950 A 270
301 g4 = 180 450 A 270
09 SALAHIEA S 180 450 A270
ONgole JISdA A0
90,000& = 2H = 13l 180
307 21201 A 23,500 23,500 0
04 DIZHHALALSE E X 23,500 23,500 0
OftsggAuy RXNE 24
8,125,000& * 13 = 80/100 6,500
Ooelolg JIgdAl XA
21,250,000& * 13l = 80/100 17,000
(Z)0toI =S XA 758,000 686,000 72,000
= 530,600
= 68,220
Al 159,180
307 21201 A 758,000 686,000 72,000
= 530,600
< 68,220
Al 159,180
11T AL SXAEE = 758,000 686,000 72,000
ootolss N& 758,000,000& * 14 758,000
= 530,600
< 68,220
Al 159,180
() LorssER 2 1,000 1,000 0
= 300
Al 700
301 et d = 1,000 1,000 0
< 300
Al 700
01 MEIEBEZE+05l= 1,000 1,000 0
oggots =dt=a X 1,000,000 * 19 1,000
< 300
Al 700
(F)otsESHR2II& 22 XA 158,583 158,583 0
J| 72,083
< 21,625
Al 64,875
307 21201 A 158,583 158,583 0
J| 72,083
< 21,625
Al 64,875
10 ALSISXAIEEE2GHEX 158,583 158,583 0
OXgots2sdzI& 29 N
158,583,000 * 14! 158,583
J| 72,083




A FOUMET R D
HH: OIsSES8 IS (AMIEXN/BES -IIESLHY)
ol OIS RS IS CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 77,625
Al 64,875
(E)EH2UTA2A2Y 120,000 102,000 18,000
== 36,000
Al 84,000
307 2Iz2t0| A 120,000 102,000 18,000
= 36,000
Al 84,000
05 QIZ2tR EF 2 120,000 102,000 18,000
OXFUZY T 2 29
10,000,000 = 12 = 12&€ 120,000
& 36,000
Al 84,000
(S)XNYotSHEHES T2 XA 10,000 10,000 0
= 3,000
Al 7,000
307 S12t0| & 10,000 0 10,000
o 3,000
Al 7,000
11 A EXAIEEX 10,000 0 10,000
OX<Eotsdy Sz I
5,000,000& = 24! 10,000
== 3,000
Al 7,000
C 2 AEIEAY 50,000 0 50,000
401 Al HI L 204 HI 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OEEAEE AIA JH&Hl 50,000,000 = 14! 50,000
OIS &S EZA =24 56,305 42,600 13,705
101 Q124 4] 8,525 0 8,525
04 JI2ZtHIZ2 2 ANEES 8,525 0 8,525
OsHEOIS=0IAIE sES0AF 21 24H] 8,525
—SE2UAN 20 8,525
ez 7,530 * 4Al2F x 225¢ 6,777
=S5 7,530 * 4A|2F x 47L 1,416
PGS 7,530& * 4Al2F x 11L 332
201 LBt Y| 38,800 15,600 23,200
01 AP 22| d| 11,600 10,600 1,000
OOtsaIIT A FAKAKS 3|9 HAMHLH
70,000& x 12Y « 23| 1,680
OOtsaSITA =4 E2S HZ
300& * 5,000 * 23] 3,000
Oo0lsdel s 2As ¢ ol 920
—Je2= 250,000& = 1Al2F = 23] 500

_20_




AN FUHEX S D

Y OISES IEXNA(ANIEXN/ES - IIESLHY)
Sl OISES JIEXY (S &2)
= (o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
L = 120,000& = 1AI2F * 23] 240
— 04l 90,000& = 1 « 23| 180
ORUAMZIZ OtsZSTA HE&s sE22A 22
1,000,000& * 14 1,000
OsSHEONSS0AE 24 5,000
—Z208 29 3,000,000& = 14 3,000
—ANREF 7Y & =&l
2,000,000& = 14 2,000
02 3323l 9,000 5,000 4,000
Ootszlst= Al =& XY SE S 3|
5,000,000& = 14 5,000
OsHEONS=s0AE S22l
4,000,000& = 14 4,000
03 A2 Z Hl 18,200 0 18,200
Otsadds 29 5,000,000& * 14l 5,000
OOts&stEA 242 ?e Bt28 01€
8,200,000& * 14 8,200
LIAIZ OF S Al HIEA
5,000,000& = 14l 5,000
301 AP B A 3,980 7,000 £3,020
09 HALAHIE& S 3,980 7,000 A 3,020
O0tsde sR2E ¥ 2UHE 29
100,000& = 10¥ = 23| 2,000
ORUANZOIS&S Al &t& sl A Adl 2
& 90,000& = 2% « 14 180
OOts&stEA X482 28 BI2E 0IE 24
i 3,000& = 300¥ = 23| 1,800
405 XHoHF S HI 5,000 0 5,000
01 XL 2 ZF S| 5,000 0 5,000
OsHEOS=0IAE EIHIS(HAS) 2
250,000& = 203 5,000
(=m)oeold 2N 37,180 30,611 6,569
= 18,590
= 9,295
Al 9,295
307 2Iztol ™ 37,180 30,611 6,569
= 18,590
< 9,295
Al 9,295
10 M SXNANEHI2IHE=X 37,180 30,611 6,569
OunMuw>4Hl X 16,340,000& * 14 16,340
= 8,170
= 4,085
Al 4,085
OxXg=2gd XA 15,560,000& * 14 15,560
= 7,780




A FOUMET R D
HH: OIsSES8 IS (AMIEXN/BES -IIESLHY)
2 OIsSE® JIIEXNHE (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 3,890
Al 3,890
OsHEATHE IO X &
5,280,000& = 1Al 5,280
= 2,640
& 1,320
Al 1,320
(R)EL=2HE (KNGS HEH) 29,232 31,104 A1,872
= 14,616
& 4,385
Al 10,231
307 2Iz2to| & 29,232 0 29,232
= 14,616
& 4,385
Al 10,231
10 MM SAANEEESIGHEX 29,232 0 29,232
S42HY XV (NAOGSHE)
609,000 * 4L + 12€ 29,232
= 14,616
& 4,385
Al 10,231
(R)ER2Y I (XNHot=s4H) 3,648 2,580 1,068
= 1,824
== 547
Al 1,277
307 2Iz2to| & 3,648 0 3,648
= 1,824
= 547
Al 1,277
10 M SXAEEHESIGHEX 3,648 0 3,648
OER=2Y NI (XNIGotsHH)
304,0008 * 10HA = 12&€ 3,648
= 1,824
& 547
Al 1,277
(Z)ESDNXAHLRAME XK (=22]) 871,130 725,708 145,422
= 435,564
== 217,783
Al 217,783
307 2Iz2t0| & 871,130 725,708 145,422
= 435,564
& 217,783
Al 217,783
10 M SXAEEHESIGHEX 871,130 725,708 145,422
OBXDAN X & 243,300,000& = 14l 243,300
= 121,650
=} 60,825
Al 60,825
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AN FUHEX S D
I HEXNS(MIEX/ES - HELAHA)
IFEXE (Sl & &)

el

Off &t 24

=

M
2Hm
==
£l
Ol
0y

517,559,000 14 517,559
258,779
129,390

129,390

= N W

— o

0,271,000& = 14| 110,271
55,135
27,568
27,568

= HnH

(E)XNEotsE2sHE2IN 222X 15,357 0 15,357
4,607

= M

10

. 750

= H

15
4

,357

,607
,750

15,

357

>-4

| 2
57,0008 » 1JH 4

(»D

Al

4
10

,357

,357

,607
,750

15,

357

(Z)otol &=

0

2gH X

= M

216

65
151

,805

,042
. 763

216,

805

= H

110

,433
677

110

04 JI2tHI 2
OO0tol &

8,110,000& = 14|

H

Al

(e NGB \C I e o]

8,
,433
677

2

,110

110

110

201 et

H

Al

,000

,000
,000

10,

000

01 At 2

10,000,000& * 14

H

10
3

,000

,000
,000

Al

7,000

10,

000

307 212+0]

(il

H

Al

198,695

59,609
139,086

198,

695

Ootol

=

10 M SXNANEEE2SHES

=
=

198,695,000& * 14

H

Al

198,695

198,695

59,609
139,086

198,

695

9,600

,600
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AN FUHEX S D

N OlERS NENA(MSSN/Z] - NSL0HA)
2 OIsSE® JIIEXNHE (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 4,800
& 1,440
Al 3,360
301 LEtE A= 9,600 0 9,600
= 4,800
& 1,440
Al 3,360
01 Al E & A 46 2 9,600 0 9,600
OLE=XN2E0IsHEHXA 9,600,000 = 1A 9,600
= 4,800
& 1,440
Al 3,360
(D)L dIIEAE OIS AR 2R 2,200 0 2,200
= 1,540
=} 198
Al 462
301 et A= 2,200 0 2,200
= 1,540
= 198
Al 462
01 M EXEE 4562 2,200 0 2,200
OUAIELEOISAICIX 2R E
2,200,000& *1H 2,200
= 1,540
o= 198
Al 462
(Z)0l=s4+=Xe 2,436,309 0 2,436,309
= 1,706,442
= 218,960
Al 510,907
301 et A= 2,436,309 0 2,436,309
= 1,706,442
&< 218,960
Al 510,907
01 Al B & X 262 2,436,309 0 2,436,309
Oltss=2=20X= 2,436,309,000& = 14! 2,436,309
= 1,706,442
= 218,960
Al 510,907
(Z)0I=S4L+EHERE 16,603 0 16,603
= 11,622
= 1,494
Al 3,487
101 Q124 4] 16,603 0 16,603
= 11,622
== 1,494
Al 3,487
04 JI2ZtHIZ2 2 NEES 16,603 0 16,603
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AN FUHEX S D
I HEXNS(MIEX/ES - HELAHA)
&l IFEXE (Sl & &)

=

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

OOts=+=EM #= JIZN2 2L 2= 16,603
=5 7,530% * BAIZ2F » 56 x4 13,494
9,446
1,214
2,834
s=g 7,530 * BAIZH » 7 x 4 1,687
1,181
152
354

= N W

=z M H

118,500& » 4F = 38 1,422
995
128
299

= o H

m
=
O
1
o
=
n
Ho
02
w

,249 0 3,249
2,274
292
683

= W

201 LEt2E | 3,249 0 3,249
2,274
292
683

= n

01 AP 2t2ltl 3,249 0 3,249
OctllE REx==2 330& = 3,700A 1,221
855

110
256
O=E8+=% W& 60,000& 1904 1,140
798
102
240
OetlE M= 2403 = 3,7000H 888
621
80
187

= N H

=z N W

= N W

(S)XNHotsSHHEZ NS X 1,000 0 1,000
300
700

= M

402 2I2tX201 & 1,000 0 1,000
300
Al 700

t

02 Q=AML EE(0IATHE) 1,000 0 1,000
OXZotsdHSZ ML K&
500,000& * 202 1,000

300
Al 700

H

FENEASNJUHN R (=X F A

) 6,878 0 6,878

{0

308 X+XI & & S0l

rz

6,878 0 6,878
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A FOUMET R D
BE: OISES ISNA(MSSK/ES - HSL0Y)
2 OIsSE® JIIEXNHE (2 &HH)
_ = (o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
07 RHXSHA=EZ 6,878 0 6,878
O NFASXNBMEH 2 £33
6,878,000& = 1Al 6,878
LOIEX ST(MIEXN/L0 - HAH) 71,315,435 57,447,199 13,868,236
= 49,218,921
J| 17,314
= 4,970,294
Al 17,108,906
SIEE 29 173,008 131,943 41,065
SH&H & 2tel 173,008 131,943 41,065
101 e1214| 16,868 8,283 8,585
04 J|12ZtHIZ22NEES 16,868 8,283 8,585
Ozt&aa2e 88X 16,868
— &2 BXoE
60,240 « 1Y = 20 = 12&€ 14,458
—SEFEY MY Bolole
60,240 x 2% x 52 x 43| 2,410
201 LBt 152,340 119,860 32,480
01 AP 22| H| 1,000 1,000 0
O3st& & 2tel 1,000
—SI&E 2A22E 2L 50,000& = 20& 1,000
02 2=2=24%H| 151,340 118,860 32,480
OStE A MIIAIERE 1,000,000 * 12& 12,000
OSIEE dXRoHH AMAsSE
200,000 ~ 12& 2,400
O3t& & HAESS X2l (3/E =, 145.4m")
5,000,000 * 1= 5,000
OStE & &HI S X 2,500,000& = 27| 5,000
OZIEZEHZZIA HEH(EYH, H2) REREU(S
2) 820 * 2,500/ =« 5&¥ 10,250
O EZ SFU(ES)
1,270& * 654 * 1,400+ 115,570
Ooolgsd 29| 400,000 * 24! 800
O&ZIE HAH| 120,000& = 14! 120
O&3t LPG JIAEAN 50,0008 * 45 200
206 T2 Ul 3,800 3,800 0
01 XH 2 H| 3,800 3,800 0
OSEE 29 AT 10,0008 * 5 x 64 300
OSFXZE SZE)|, HHED "wE
50,000& * 304 1,500
OZ&EE HXE X HHH 2l 500,000 = 404 2,000
LoEx 54 57,778,412 47,202, 160 10,576,252
= 48,559,531
J| 17,314
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2N
X ZH -
L= B

el

Pl
>
for
2
bal
~
H
re
o
k>
i

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,763,754
Al 7,437,813
Lol=XEd 1,242,020 1,147,580 94,440
201 ¢er24l 10,420 6,980 3,440
01 At 2t 2l 10,420 6,980 3,440
Oko=sa 70l 30& = 20,00001 = 12& 7,200
OZETAANE A8 FAARS 29 FHdH
70,000& = 1798 = 23] 2,380
Ol AS 2SN AY 233 32
EESEC=Y 70,0003 = 4% « 33| 840
301 et a = 1,053,000 972,000 81,000
01 MEIBZE 2053 1,053,000 972,000 81,000
Oko==H X&
5,000& » 19,500F * 12& * 90% 1,053,000
307 glz2tol & 178,600 168,600 10,000
02 HAHFHAANGEEE 140,000 130,000 10,000
Okolod I8 Atg X &
5,000& = 28,000H 140,000
04 QIZFHALAIH B = 35,000 35,000 0
OB olE I8 &AL 15,000,000& * 14 15,000
Osled JIE A 10,000,000& « 14l 10,000
Ookolod I8 Lo B2 X
10,000,000& * 14 10,000
11T MISRASEX 3,600 3,600 0
ORAE Lol dala Ited =20l
30,000& = 1209 3,600
COMBESEHIIR 20,600 18,600 2,000
301 et d = 3,600 3,600 0
09 HAAHIEA S 3,600 3,600 0
OkQlel & JIE3dA EA0I
90,000& = 10 » 1« 900
OLQXNEX nEEA
90,000& = 10 » 1« 900
Oko=ER2e nsdFA ol
90,000& = 10 » 1« 900
Okel AZ=H FItodtl
90,000& = 10 » 1« 900
307 glz2tol & 17,000 15,000 2,000
04 DIZHHALALSE E X 17,000 15,000 2,000
Ookelod Jlg elisdgM=sal
17,000,000& * 13l 17,000
()R HLSEHE L AR 2| 39,130 39,130 0
< 9,782
Al 29,348
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2N
X ZH -
L= B

el

Pl
>
for
2
bal
~
H
re
o
k>
i

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 39,130 39,130 0
< 9,782
Al 29,348
11T M SXASE EX 39,130 39,130 0
OSoeol HASBHY L o2
6,400& « 1,0759Y 39,130
< 9,782
Al 29,348
(=)J=c13 X2 50,986,269 42,389, 148 8,597,121
= 45,887,642
< 1,019,725
Al 4,078,902
301 gt d= 50,986,269 42,389, 148 8,597,121
= 45,887,642
< 1,019,725
Al 4,078,902
01 MEI2EZE 05z 50,986,269 42,389, 148 8,597,121
OJIxzd3a XA 50,986,269,000& * 14! 50,986,269
= 45,887,642
< 1,019,725
Al 4,078,902
(S)H A ST I O A AFHY & 97,455 81,030 16,425
< 9,745
Al 87,710
307 glz2tol & 97,455 81,030 16,425
< 9,745
Al 87,710
11T MISXASEX 97,455 81,030 16,425
OMASTHItECl AALHHE
1,095,000& = 89H 97,455
< 9,745
Al 87,710
(E)Y2ALR2ZAAY 186,588 186,576 12
< 18,658
Al 167,930
307 glz2+ol & 186,588 186,576 12
< 18,658
Al 167,930
11T MISXASER 186,588 186,576 12
OZzAg Fas4 186,588,000& * 14 186,588
< 18,658
Al 167,930
(Z)eonazdg 24,000 27,000 A 3,000
< 7,200
Al 16,800
307 21201 A 24,000 27,000 A 3,000
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2N
X ZH -
L= B
el

Pl
>
for
2
bal
~
H
re
o
k>
i

SN - EAEA) - MRAL

01
o

Off &t 24

=

i
2m
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OAZECA(SDEHNL )2 28,000
— Q24 H| 600,000& » 108 » 4004 24,000
— 23| 100,000& * 10& * 4042 4,000
(=2)EL2ELBS01otMI0l 2L 165,132 153,838 1,294
J| 77,566
< 23,270
Al 54,296
307 eIzl & 165,132 153,838 1,294
J| 77,566
< 23,270
Al 54,296
11T MISRASER 155,132 153,838 1,294
O&A4E &% obotol 29 K&
155,132,000& = 1JH A 155,132
J| 77,566
< 23,270
Al 54,296
(NS HLEHENHII? 2 2,800 2,800 0
J| 1,400
Al 1,400
307 glz2tol & 2,800 2,800 0
J| 1,400
Al 1,400
11T MISXASEX 2,800 2,800 0
OFrE HOFAVE 29
2,800,000 = 1004 2,800
J| 1,400
Al 1,400
(D)BAFMEE2SE2 L 7,000 6,700 300
< 2,000
Al 5,000
307 glz2tol & 7,000 6,700 300
< 2,000
Al 5,000
11T M SXAIS EX 7,000 6,700 300
O3 #4E AsIHg Z20H 29
7,000,000& = 14 7,000
= 2,000
Al 5,000
(ANZHL2E2BANE T2 OH2FXA 2,000 1,000 1,000
J| 1,000
Al 1,000
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EPNERE P 2 ERA)
= _ — d =
SN BA(SA) - MRAY - BES e 2
201 ¢er24| 2,000 0 2,000
J| 1,000
Al 1,000
01 At 22l 2,000 0 2,000
OFAHEH2S2E
00,0003 * 1002 2,000
J| 1,000
Al 1,000
()XNSAME HAHES XA 2= 92,300 90,100 2,200
J| 46,150
Al 46,150
307 gl2tol & 92,300 90,100 2,200
J| 46,150
Al 46,150
10 M2 EXANEEEH 92,300 90,100 2,200
OF=ETRAR=E-IN
00& * 1J0H= 92,300
J| 46,150
Al 46,150
(DA ZHL2H A HEH 105,000 95,000 10,000
< 15,000
Al 90,000
307 21201 A 105,000 95,000 10,000
< 15,000
Al 90,000
10 ALSI S XAIEEE 22X 105,000 95,000 10,000
O3Ad =X 24
1 & 105,000
< 15,000
Al 90,000
()HALAEXS AL BHXI X 43,752 42,720 1,032
J| 21,876
Al 21,876
101 @124l 21,876 21,360 516
J| 10,938
Al 10,938
02 JIEt A2+ 21,876 21,360 516
OF=EAL= Reaye JelFS H XIS AR22 UHXI (Al 2HA
H A 21,876,000& * 10H A 21,876
J| 10,938
Al 10,938
307 21201 A 21,876 21,360 516
J| 10,938
Al 10,938
11T AL S XAEE = 21,876 21,360 516
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- _ _ RE]
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OSFxNELidred BLANCA 0K A&
21,876,000 * 14! 21,876
J| 10,938
Al 10,938
(Z)gird0sd0te I 24,062 20,800 3,262
2 9,662
Al 14,400
307 2Iz2t0| & 24,062 20,800 3,262
= 9,662
Al 14,400
11 A EXAIEEX 24,062 20,800 3,262
OZ4H 028 80tY 29
24,062,000 = 14! 24,062
= 9,662
Al 14,400
(S)HEARSD XA 29,000 25,000 4,000
= 11,500
Al 17,500
307 S12t0| & 29,000 25,000 4,000
= 11,500
Al 17,500
02 DIZIEAAIRE E X 29,000 25,000 4,000
OFAEHEREN 2Y 29,000,000 = 14 29,000
& 11,500
Al 17,500
(2)y3Ads=sotel X 18,750 16,250 2,500
= 7,500
Al 11,250
307 212+0 & 18,750 16,250 2,500
= 7,500
Al 11,250
11T AISIEXAIEEX 18,750 16,250 2,500
OFa4d S0t s X
18,750,000& = {14l 18,750
= 7,500
Al 11,250
(E)3Ad=2518=s14 20,000 20,000 0
& 6,000
Al 14,000
307 2iz2to| A 20,000 20,000 0
= 6,000
Al 14,000
04 QIZ2tSHALALS B X 20,000 20,000 0
O3N=EE HAY E=E0=AH
20,000,000 * 14l 20,000
& 6,000
Al 14,000
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Hu: HAW SH Y PS(ASEN/0 - HAE)
©9l: Had 84 (29l 8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OBAGNCHD AFHIIA o0 B4
90,000& = 20 » 1« 1,800
(=)L E sgX2 7,600 7,600 0
J| 5,300
Al 2,300
301 gt d= 7,600 7,600 0
J| 5,300
Al 2,300
01 MI2ZE 6= 7,600 7,600 0
OFAYE SEXHAY 7,600,000& * 14 7,600
J| 5,300
Al 2,300
(=)8tw & F4a4 X 79,403 78,000 1,403
| 55,568
Al 23,835
307 glz2+ol & 79,403 78,000 1,403
| 55,568
Al 23,835
11T MISXASEX 79,403 78,000 1,403
oggdss #4489 g ¥ &5 N2
79,403,000& 14l 79,403
| 55,568
Al 23,835
(NZHLESBEANEHNES 245,000 0 245,000
Xl 200,000
Al 45,000
401 A& HIZ 201 I 245,000 0 245,000
Xl 200,000
Al 45,000
01 A& HI 245,000 0 245,000
OYZA HAHSRAY AL 22
245,000,000& = 1JH A 245,000
Xl 200,000
Al 45,000
(BHLSSHLEHELAEXH 14,912 0 14,912
= 7,456
< 2,237
Al 5,219
307 glz2tol & 14,912 0 14,912
= 7,456
< 2,237
Al 5,219
01 22272l 14,912 0 14,912
ONASEHEEAEAUSSAE
25,7993 » 5789H 14,912
= 7,456
< 2,237
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Sl HAH 54 (B9 ®R)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
[ 1] 3 5,210
HE2A L (=UME X R D) (IIEH/IIE) 257,407 251,340 6,067
eI 2l 145,781 139,150 6,631
Qa2 H| 145,781 139,150 6,631
101 @124l 143,156 136,945 6,211
02 JIEtA 2 == 47,480 47,060 420
OHLE259F &HAEX S AHAIZEHI A 22 0
=) 47,480
—JlE2s 2,100,000& * 1H » 123 25,200
— & 1,440
bH < Xt 40,000 * 2% = 128 960
JlE 20,000& = 2% = 12& 480
b ELE
8,000% = 30AI2t = 2H * 123 5,760
—dAasAl 130,000& = 28 = 123 3,120
— ItE &l
2,100,000& = 1/30 * 12 * 2H 1,680
— &&=z 5,140,000& « 29 10,280
03 RIAHAZZ2RHE* 95,676 89,885 5,791
OO0Xls E2E0IEE 2eld 49,536
—Jl2s 1,640,990& * 1H * 123 19,692
— 0= 1,640,990& » 1H * 200% 3,282
— S ZE St
1,640,990 * 1& * 75% » 23 2,462
—JtE=Z (X)) 40,0008 * 1Y « 12¢ 480
—JIE4Y(OIE) 60,0008 « 1% » 128 720
b ELE
11,098  150% » 15AI2F = 1 = 12& 2,997
—- Y222y
88,784 * 150% * 1H = 116€ 15,449
— RS sIt=Y 88,784F 1@ » 22 1,954
— =gl 100,000& » 198 = 128 1,200
— sl 100,000& = 18 = 128 1,200
— o=l 100,000& = 1& » 1H 100
O =t&d 22 46,140
—Jlz2s 1,528,310& * 1¥ * 123 18,340
— o0z 1,528,310 * 1H » 200% 3,057
—GESF0 1,528,310 * 198 * 23| = 75% 2,293
—HEL (WS X)) 40,0008 + 12 » 12€ 480
—ANZeZ2RE
10,4023 * 150% » 15AI2F = 1H = 12& 2,809
—5d2f=E
83,2163 * 150% * 1H » 120& 14,979
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— xRS EIIIE=Y 83,2168 x 1H x 19¢ 1,582
— = &l 100,000& * 198 = 12& 1,200
— W&l 100,000& » 1¥ = 12& 1,200
— I =dl 100,000& ~ 1Y = 2& 200
204 X~ AH| 2,625 2,205 420
02 &38| 2,625 2,205 420
O HAUR3E HATX S AH(AIZHH A 22 2,625
e =g gs | 109,375& * 29 = 12& 2,625
Jl2& bl 111,626 112,190 N 564
JlE2&| 111,626 112,190 N 564
201 et A | 28,166 23,990 4,176
01 AFR2t2ldl 28,166 23,990 4,176
O=sAMEXN 7 15,000 * 192+ A = 128 3,420
OEZ A 7,000& * B6A! x 19Y x 128 9,576
Ogbte3 100,000& = 12& 1,200
O EA7HI 50,000& = 12& 600
O4LAR2 =44 8,730
— Z2AJ(aE)%2l 500,000& * 1CH 500
— ZEEDl %2l 100,000 * 5CH = 50/100 250
— SA EY 200,000& = 53] = 104 1,000
— DElHI(EY) EY
200,000& = 53] = 504 5,000
—Z2EI(2) EY
200,000& = 53] = 104 1,000
— PC==2l 100,000€ * 19CH » 20/100 380
— J|lEt==2ltl 50,000& = 12& 600
OJIEF AP 2t2l ] 5,000& * 19¥ x 12& 1,140
A 2 SANUHAX MdHA Z2E3SKA e
-JelRE 22 3,500,000& * 14 3,500
202 04| 78,660 82,800 N4, 140
01 2LHHI 78,660 82,800 N4, 140
OFMEXIAL =X Y| 78,660
— 2L O B 20,000& * 19Y * 122 x 12& 54,720
— 22/ 04 Hl 90,000& * 19 = 14 23,940
203 R =&lY| 3,600 4,200 A 600
04 ENSIHRF=AY| 3,600 4,200 A 600
ORN2IGIRF&Y| 300,000& « 12& 3,600
204 X2 =2 F H| 1,200 1,200 0
01 XS RHAH| 1,200 1,200 0
OXBIHR2LHAY| (F2IMEX K DHE)
100,000& + 198 = 12& 1,200

_47_




